(k=1 -4)

211 HEf™ stiEEAHEE - REFEEFE

S 6 FE

SH6E1IBLHAKE S
(8 FH)
YZEE
ExES EE 21 FE EEx A RELE i %
= . Sj= RS AT St ]
No- GE1) (£2) - (a (b) 0 BRI GE4)
ESZN N (c) =axb
Gx3)
(0)
1 A BRzFRALI-BHRESE BT 1/2 5.967 2.983
<5,967> <2,983>
(0)
2 0
<0> <0>
(0)
3 0
<0> <0>
(0)
4 0
<0> <0>
(0)
5 0
<0> <0>
0 o)
BEHE 5,967 2,983
<5,967> <2,983>
Cxl) (EFEEFES] L. [ REEWEIAL0ES) - (A—FBEFBFORBOZEOBLES) LRDLIEHT 2,
GCE2) [FEEL| X ERTIFEORABRI’ LI D LD ICEROLTRETZHT %,
GE3) LB () =13, siEFCICESSNEEERH L, PRICIISEBRFTI2EEZLHT 5, b, THE< >EZOVTE. BFHESLh 2,
GCx4) BBEICOWTIE, EREMEL 6 OO—OHENZOXIFEEBR 2LEBOBERAEEENRAFINIBEAMEXS 1 - 2 0mEN EHHENATHR]) BEICIE

M=) Ic [hERESEEE RELATENEZIIZE) | LEH8T 2,




